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Question 1.Select the related word/letters/numbers from the given alternatives:

A T faenedl & § Tafa <1/ st/ &t gy
Medicine : Patient : : Education : ?

Sfufey : Jft - fvem: 2
Options:

1) Teacher

U h

2) School

e

3) Student

e

4) Tuition

ERA

Correct Answer: Student
e

Candidate Answer: Student
B

Question 2.Select the related word/letters/numbers from the given alternatives:

A M Rreneul & @ TafFAa e/ 31erRi/ e & gy
LAMP : IXJM : FISH : ?

Options:

1) CGPF

2) CFQE

3) CFPE

4) CGQF
Correct Answer: CFPE
Candidate Answer: CFPE

Question 3.Select the related word/letters/numbers from the given alternatives:

o0 Tt fyepent # @ GafAq wrea/s1erl/ e ot gy
13:20::17:?

Options:

125

2) 26

3)27

4) 28
Correct Answer: 28
Candidate Answer: 28

Staff Selection Commission
(Government Of India)

CANDIDATE NAME :
EXAM START TIME : 16:15:00
EXAM DURATION : 01:15 Hrs
TOTAL NO OF QUESTIONS : 100



Question 4.

For the following questions

Find the odd word / letter / number from the given alternative

f&q g fahedt & @ fawe rea/s1eRr/<w@ ot gy
Options:

1) Rival

ufdg=l

2) Opponent
foxieft

3) Foe
Ak
4) Ally
GE]

Correct Answer: Ally

GE]

Candidate Answer: Ally
o

Question 5.

For the following questions

Find the odd word / letter / number from the given alternative

f&q g faeheut | 9 faww erea/s1eR/Ewed st gy

Options:
1) POCG

2) KLIZ
3) BUDX

4) FQMV
Correct Answer: FQMV



Candidate Answer: FQMV

Question 6.

For the following questions

Find the odd word / letter / number from the given alternative

f&q g foreneut 7 & fowm 2reg/ srer/<edm st gy

Options:
1) 36-48

2) 56 - 44
3) 78 - 66

4) 33-64
Correct Answer: 33 - 64
Candidate Answer: 33 - 64

Question 7.Arrange the following words as per order in the dictionary

fAmfeifRaa sreaf it ersgentar # f&Q 71g ohe & SrgaR feif@y

1. Ambitions
2. Ambiguous
3. Ambiguity
4. Animation
5. Animal

Options:
1)3,2,4,1,5

2)3,2,5,4,1
3)3,2,1,5,4

4)3,2,4,5,1
Correct Answer:3,2,1,5,4
Candidate Answer:3,2,1,5,4



Question 8.A series is given, with one term missing . Choose the correct alternative from
the given ones that will complete the series .

ffofed us # g srgern féar ma 8, foad Tes ug g 21 feu 71 faereut & & ag 98l faheu
I i SFIehH i T A

CAT ,DBT, ECT,?

Options:

1) DCT

2) FDT

3) FCT

4) FAT
Correct Answer: FDT
Candidate Answer: FDT

Question 9.A series is given , with one term missing . Choose the correct alternative from
the given ones that will complete the series .

fAfofed uw d geh srgern féan man 8, foied Tes ue o 21 2w 71 faeneut 7 & ag 9el faehea
Y STt 31gehH Bt O R

5,11,24,51,106,____7

Options:

1) 122

2) 217

3) 120

4) 153
Correct Answer: 217
Candidate Answer: 217



Question 10.Showing a man on the stage, Rita said, " He is the brother of the daughter of
the wife of my husband . How is the man on stage related to Rita ?

Ha IR Geh GoW i fe@rd gu a1 A shgl, " a8 "R ufd &t gt Bl it oht 9iE 81 " HE R ufed 39
&Y ohl dT & RIT Gy g ?

Options:

1) SON

A
2) HUSBAND
afa

3) COUSIN
TR/ GURT/HHRT/HIERT

4) NEPHEW

LRI

Correct Answer: SON
el

Candidate Answer: SON
kel

Question 11.The age of Dr. Pandey is four times the age of his son. After 10 years, the
age of Dr. Pandey will be twice the age of his son . The present age of Dr. Pandey's son is

ST, UTUSY ohl AT ITch Y chl 1Y <hl IR T[T &1 10 I ugTd Sf. urued hi g 3-7ch g1 <ht oy 4
T gt STt | ST, uTuSy & QA chl IdHTH 31 FdT13T ?
Options:

1) 4 years

49y

2) 5 years

5y

3) 6 years

6 Iy

4) 8 years

8 ay

Correct Answer: 5 years

59y

Candidate Answer: 5 years

5y



Question 12.From the given alternative words , select the word which cannot be formed
using the letters of the given word :

faereat 7 @ a8 reg A ST U 717 216g o 37&TRY ST TRANT hech g1 ST ST HehdT ?
INTELLIGENCE

Options:

1) CANCEL

2) NEGLECT
3) GENTLE

4) INCITE
Correct Answer: CANCEL
Candidate Answer: CANCEL

Question 13.1f C is coded 3, DASH is coded as 32, then DANCE will be coded as

gfe C o fordt st # 3 for@r STTe, DASH @t 32 feiRar SiTq, at DANCE @t 3t ahte | o foraan
SITQAT ?

Options:

1) 20

2) 25
3) 26

4) 27
Correct Answer: 27
Candidate Answer: 27

Question 14.1f ' + ' means minus, ' - ' means multiplication, '+ ' means plus,and ' x"'
means division , then

g + 1 o1ef TeT &, - a1 31ef om 8, + o 9ref ST B, 3fR x @t aref i 8, @Y FRmfaifRa vt il g
$Hifsg 2

15-3+10x5+5



Options:
1) 52

2) 48
3) 22

4) 5
Correct Answer: 48
Candidate Answer: 48

Question 15.A certain system is followed to solve the problem . Accordingly find out the
correct answer from the alternatives for the unsolved equations .

fAfeilRaa s & o gHieaun 1 gat AT o forg gen fafre gormett ot i forar mam 81 for e
GHYRRUT T B To! Hentett AT 8, 3T fafre voreft @ 39 gefieprur o1 IR I Shifsiw

7x4x9=479
9x5x2=592
6x9x5=965
8x6x2=7
Options:

1) 286

2) 682
3) 628

4) 268
Correct Answer: 682
Candidate Answer: 682



Question 16.Find the missing number from the given alternatives

f&q g fareheut 7 & o G J1d A

7 10 | 5

16 40| 8

15 ? 9

Options:
1) 75

2) 45
3) 20

4) 30
Correct Answer: 30
Candidate Answer: 45

Question 17.Sanmitra walked 8 m towards the north. He turned to his right and walked 16
m , then he turned to his left and walked 5 m and again he turned to his left and walked
16 m . In which direction is he from his starting point ?

AT SR <ht 37R 8 HIex Tl 3R a1 gAY 16 Hiex Tl fhe 37107 I gAeRe 5 Hiex Il I8 fhe
Y 3R 7T 3R 16 Hiex I 37a I8 U= URFG Wi & fhg fesn & g 2

Options:

1) South

afeyor

2) East

o

3) North
37X

4) West
afgH

Correct Answer: North
3dX

Candidate Answer: North
3dX



Question 18.Consider the given statement/s to be true and decide which of the given
conclusions/assumptions can definitely be drawn from the given statement.
Statements :

1. Some teacher are followers.

2. Some followers are famous.

Conclusions :

|. Some teachers are famous.

Il. Some followers are teachers.

fAafaf@a usr & o a1 g a<he R8T €, [Oraas ot &) Asandl/am=arg, | 8k 1 fRenret T B
3MYeh! faaR &1 ¢ foh a<hed O & dTe a8 IHT=ad: *1d a2t & f9= udid gidar gt simuent Aol
T & fo o U aehen & O sria-ar A9 w0 @ @) fAsen/A=adr et S enar g 2

a<hed : 1. $© AU AT 8

2. S A Uflig ¢

fshy : | o e UlE &

|| o FTARIT eI |

Options:

1) Only conclusion | follows

chad fAsnt | 98t 8l

2) Only conclusion Il follows

chadt fsny || 98 81

3) Both conclusion | and Il follows

fsene | 3R 11 ST T & |

4) Neither conclusion | nor Il follows

7t fseny | Tl 8 SR A1 81 fAseny 11 @8t 81

Correct Answer: Only conclusion Il follows

chad fsny || I8 81

Candidate Answer: Only conclusion Il follows

had fsny || I8 81

Question 19.How many triangles are there in the question figure ?

U 3MTpfd | fohd=t RAofsT g ?




Options:
1) 18

2) 24
3) 28

4) 30
Correct Answer: 28
Candidate Answer: 28

Question 20.ldentify the diagram that best represents the relationship among classes
given below

I8 SRE gAY St i ey 71 vt o st gt T ot gfdr g ?

Delhi, Sri Lanka, Asia



Options:

1)

©

L)
~—~—

T W
N—r

NN
~

S ®

Correct Answer:

Candidate Answer:



Question 21.Which answer figure complete the pattern in the question figure?

ehI=-&t ITR 3ATepfd U 3Tepfal o ufaed el oz ewft 2

Options:

1)

2)

3)




Correct Answer:

Candidate Answer:

Question 22.From the given figure, select the one in the question the figure is hidden /
embedded

& T IR SR A @ 39 IR MHRY ) 9 e v o Rk 2 2

<



Options:

1)

2)

3)

4)

A B & B

Correct Answer:

S

Candidate Answer:

S



Question 23.A piece of paper is folded and cut as shown below in the given answer
figures, indicate how it will paper when opened .

e foreht epmret i, Fi2t vy srepfaat & @y SIaR Aige el AT af @Wie & 915 I8 fohd IR
TR S fears & 2

JJJJJ

g i
Options:
1)

2)

3)

4

® & 6

Correct Answer:

©



Candidate Answer:

Question 24.1f a mirror is place on the line MN, then which of the answer figures is the
right image of the figure ?

afe Ueh 2T Y MN @1 TR 3T 1Yt &1 1T IR Mepfardt & @ ahi-aft sirepfay e Srrepfer vt Tt
ufafra ghft 2

M N

(>

oas




Options:
1)

Correct Answer:

L.

C_ﬁandidate Answer:

1"~



Question 25.In the question, a word is represented by only one set of numbers as given in
any one of the alternatives. The sets of numbers given in the alternatives are represented
by two classes of alphabets as in two matrices given below. The columns and rows of
Matrix | are numbered from 0 to 4 and that of Matrix Il are numbered from 5 to 9. A letter
these matrix can be represented first by row and next by its column, e. g.,' A' can be
represented by 01, 13, etc. ., and ' B ' can be represented by 58, 69, etc. . Similarly , you
have to identify the set for the word ' FINE '

ffofea usr 7 faeeat 7 Gy Ty dw-awg, siert & &t a7l g1 &80 1Y 8, oid foh e fjg g
3egg! | &1 31egg | & Far 3R Ufch A1 Tear 0 @ 4 dah Y 718 8, 3R 3megg 11 & 58 9 dah, 37
JTHEl T Teh HER i Ugat IThI Ulh 3R a1¢ H T T-AT gRT S2ATAT ST HehdT &1 IATE0T & foig,
A 01, 13, 31T gRT EATAT ST TehdT & IUT B Y 58, 69,3111 RT &1TaT ST Tehdl g1 34 dig 9
3MYeht f&T 2reg 'FINE' o folq 99g ot Uga=-1 81

MATRIX | MATRIX 11

o |1 2|s (& 5(6|7(8 |9
0O |F A N O | 5|5 E|IH|B T
1 (1 O F A |N o | H S| E|T B
2 |Aa|N|O |1 |F 7| B|T|S|E|H
310 |F | N A 8 E |H T B S
4 'N | A |F 0] ) T |5 E H B

Options:

1) 00, 04,02, 56
2)12,10,13,67
3)24,19,31,78

4) 31,32,33,87
Correct Answer: 00,04, 02, 56
Candidate Answer: 00, 04,02, 56

Question 26.Who propounded the "Doctrine of Passive Resistance"?

"nf=rguf ufeRte” (Taamg) 1 R ferga ufauried farar ur 2



Options:

1) Balgangadhar Tilak
STCTTIITER

2) Aurobindo Ghosh
IR EEARGIN

3) Lala Lajpat Rai
ATAT ATSTUT T

4) Bipin Chandra Pal
fafoe <= uret

Correct Answer: Aurobindo Ghosh
INICEARI L
Candidate Answer: Aurobindo Ghosh

SINICEARIL]

Question 27.At Rio Olympics, what was the final position of Dipa Karmakar in her
category?

a1 AT o1 RAY 3 Dett 7 ora & & ol 97 W a1?

Options:
1) 4

2) 5
3) 6

4) 7
Correct Answer: 4
Candidate Answer: 4

Question 28.The 14th Finance Commission has recommended increase in States share in
net proceeds from tax collection from 32% to

14 d faed SITAINT A R It & g4 areft g sma & I3t a1 g1 32% ¥ Tgrenr fohamt ufard
3 <hl fAATRR2T T & 2

Options:
1) 35%

2) 40%
3) 42%

4) 45%



Correct Answer: 42%
Candidate Answer: [ NOT ANSWERED |

Question 29.Fiscal policy in India is formulated by

YR H TSTensig S i aag sear g 2

Options:
1) Reserve Bank of India

ARG Rerd dn

2) Planning Commission
ST ST

3) Finance Ministry
EGEEISD)

4) SEB
et

Correct Answer: Finance Ministry
faed #ame™

Candidate Answer: Finance Ministry
faed #amer™

Question 30.Which of the following has pH value 7?

g d 9 fhgarpHaER 78 2

Options:

1) Pure Water
G STl

2) HySOy4

3) Sodium Carbonate

qifead dEHe

4) HCI

Correct Answer: Pure Water
UG ST

Candidate Answer: Pure Water
S EAC |

Question 31.When ice cubes are made, the entropy of water

I g% A1 8, df STet Y Teardt____



Options:

1) does not change

gRafdd gl gidt

2) decreases

g ST 8t

3) increases

¢ St 8

4) may either increase or decrease depending on the process used

AT UfehaT TUATS 713, T8 SWd §U Ue IT 9¢ Tdhdll &

Correct Answer: decreases

°e STl 8l

Candidate Answer: decreases

U< STdl 8l

Question 32.Two vectors are said to be equal if

&) gfeer (dorx) ReR gla & afe

Options:
1) only thelr magnitudes are same
hadl 3-Ich 3TThR Ych IH &

2) only their directions are same
haet ITeh! fe=md Uah gt
3) both magnitude and direction are same

3ch 3TTehR 3R fm g1 Tah &t

4) magnitudes are same but directions are opposite
3ThR Ueh g foheg feemd faudta &t

Correct Answer: both magnitude and direction are same

3ch SRR 3R fe=m g1 U gt

Candidate Answer: both magnitude and direction are same

3ch SIThR 3T fe=m g4 Ueh gt

Question 33.The chemical component that is invariably found in all viruses is

P T I At sifaria: gt fawrogett & grar Sirar 82



Options:
1) proteins

2) lipids
farfos

3) DNA

SOy

4) RNA

SIRUTY

Correct Answer: proteins
It

Candidate Answer: DNA
SIRCRY

Question 34.Which is used as an Air pollution indicator?

IR] UGNUT G & ¥4 H fAmfafad d & o9 s st g ?
Options:

1) Algae

Aaret

2) Fungi

ththa

3) Bacteria

fersmoy

(FEIRam)
4) Lichens
RIECT

(3tp)

Correct Answer: Lichens

GIECT]
(3R)

Candidate Answer: Lichens

ATgeh
QED)



Question 35.The study of mountains is known as

Uddi oh ST hl &RIT hgd & ?

Options:
1) Oncology
3ffchtettot!

2) Lithology
31T (feratetst)
3) Orology
NINGI)

4) Ornithology
DIl

(aferoRmTon)

Correct Answer: Orology

NINCISE

Candidate Answer: Orology

NINCISE

Question 36.Salination of soil is caused by

eI o FAqUiienRl fohd shRUT glaT & ?
Options:

1) Pesticides

BiECTIR]

2) soil erosion

Iff et

3) excess irrigation

31fdrep s

4) crop rotation

Thdcl

Correct Answer: excess irrigation
3rfdren =g
Candidate Answer: Pesticides

LiEETIN

Question 37.1CC World T20 in 2016 was won by
ay 2016 & 377E HF &t aee &y €20 fGare fhes sitar ?



Options:
1) India
HRd

2) England

3) New Zealand

SIS

4) West Indies

@ et

Correct Answer: West Indies
d& et

Candidate Answer: West Indies

% eI

Question 38.Which one of the following was established with a definite provision under
an Article of the Constitution of India?

fAfalRaa # & forgeht AT YR dfdam & srqede & s AfYd Iusy & srgarR 6 8 ot 2

Options:

1) Union Public Service Commission
Y ek JaT STINT

2) National Human Rights Commission

AT HTG IAfIPR ST

3) Election Commission
AT STRT
4) Central Vigilance Commission

eI Gelchd] STANT

Correct Answer: Election Commission
A1 STIRT
Candidate Answer: Election Commission

A SATIRT

Question 39.The President can advance money to meet unforeseen expenses from the

Irsgufa fAmferfEa # @ fohg iy @ forelt srucnfra @< & forg oF & dend €72



Options:

1) Consolidated Fund of India

VR <hl GRfhd [T

2) Grants of the Central Government
hvs YRR I &

3) Aid from the Union Government
Y TRFR <hl Ggrgar [Afd

4) Contingency Fund

TR Sk Afd

Correct Answer: Contingency Fund

3TehfSeh fAfd

Candidate Answer: Contingency Fund

3fTehfSeh fAfdr

Question 40.The famous Vishnu temple at Angkor Wat in Cambodia was built by

relfear # [Ad SRR aTe 1 GURig fas-Af=R fhe= Samr ar ?
Options:

1) Shrutavarman

HITHA

2) Suryavarman |l

ghaH I

3) Indravarman

godHT

4) Aniruddha

IfEg

Correct Answer: Suryavarman |l
gdaHH ||

Candidate Answer: Indravarman

gaHq

Question 41.In IT, the technique of delaying outgoing acknowledgements temporarily is
known as

TS &Y. H AT YeHIctoTHE Shi SRATR TG § &R G WS chl dehriich chl oRIT hgd & ?



Options:

1) AR Acknowledgement
U 3R UeHTcisHe

2) AR request

U 3R Reae

3) Piggybacking
ISUICIE]
4) Piggyframing
ok

Correct Answer: Piggybacking
ot

Candidate Answer: [ NOT ANSWERED |

Question 42.1f speed of rotation of the earth increases, the weight of the body

gfg gedt & guia &t 1fd a1 STt &, t RR 1 ao=

Options:

1) decreases

g ST

2) increases

sl SITQ

3) remains the same

EERE

4) may increase or decrease
Y< 7 96 9ohdT &

Correct Answer: decreases
Y SITUTI

Candidate Answer: decreases
Y SITUTI

Question 43.Which among the following countries is facing debt crisis?

FEfefRed & & sid 7 H SkUr-dehe § ?



Options:
1) China
CiE|

2) Canada
chTST

3) Germany
STHAT

4) Greece

g ()

Correct Answer: Greece
g ()

Candidate Answer: Greece

T ()
Question 44.The new symbol of Indian currency is designed by

YR HET ST 74T Uctieh-faeg fopa fesmme foham a1 2

Options:

1) Santosh Kumar
Gy AR

2) Y.V. Reddy

ars. Y 3
3) Udayakumar

4) Dr. Rangarajan
8l YRS
Correct Answer: Udayakumar

ISAFHR

Candidate Answer: Udayakumar

3 HHR

Question 45.What is MUDRA?

7T (MUDRA) T8 ?



Options:

1) Development and Refinance Agency

faerr ofiR gAfded Toi=ht

2) Scheme for Agricultural Insurance

S ST o

3) New Planet Discovered

G 7T 7T U

4) Development and Regulatory Authority for Urban Township
M TRIGRUT & fou faaerg iR FRramaes urferenvor

Correct Answer: Development and Refinance Agency
o 3R gafdea o=t
Candidate Answer: Scheme for Agricultural Insurance

Ry e o

Question 46.Which of the following is not correctly matched?

ffefaa & 9 frgar aa get 8t 8 ?
Options:

1) Sania Mirza - Tennis

arfaar st - e

2) Sania Nehwal - Badminton
ST Agard - SSffie

3) Mary Kom - Boxing

TR ohrH - SR

4) Pankaj Advani - Wrestling
Gehol TSaToft - el

Correct Answer: Pankaj Advani - Wrestling
GehoT STTSaTui] - e

Candidate Answer: Pankaj Advani - Wrestling
Gehol TSaroft - et

Question 47 Which of the following State is surrounded by Bangladesh from three sides?

frfofeEa # @ foha s & 9 @ giverder i dmr g 2



Options:
1) Nagaland
AN S

2) Assam
STHH

3) Arunachal Pradesh
VTS TRl

4) Tripura

Correct Answer: Tripura

g

Candidate Answer: Assam
3TgH

Question 48.Which enzyme digests proteins in the stomach?

MR F ...........T-oT3H U i Ta= H Heg har g ?

Options:
1) Trypsin

2) Pepsin
ofcd

3) Salivary amylase
IR

4) Pancreatic canal

SN etT

Correct Answer: Pepsin

afed

Candidate Answer: Trypsin

feuei

Question 49.Fermentation is a type of

fRUaT G UehR BT @I

process .



Options:

1) Aerobic Respiration
CIURGEE]

2) Anaerobic Respiration

GGG
3) Exothermic Reaction
S SHT AN srfaferar

4) Transpiration

Correct Answer: Anaerobic Respiration

AT gaq

Candidate Answer: Exothermic Reaction

AT I rfAfehar

Question 50.The first Muslim to be elected President of 'Indian National Congress' was?

WRATT ASEIT Y Rl AT 7T UAH HIETH STeHE ehl- AT ?
Options:

1) Maulana Azad

GIRIEICIEIC

2) Mohammed Al

HewIg et

3) Badruddin Tyabji

CrETARIIHCIT]

4) Shah Wali-ullah

SIHERIEREI

Correct Answer: Badruddin Tyabji
JeIE I JESl!

Candidate Answer: Badruddin Tyabji
TEIE qSSit

Question 51.A,B and C contract a work for ¥ 440. Together A and B are to do 9/11 of the
work. The share of C should be:

A, B 3R C fohdfl srre opt ¥ 440 H et T SehT dd &1 A 3R B ol AT 9/11 IMT e AT €1 C
T TR T AT I118T ?



Options:
1) 75

2) 90
3) 100

4) 80
Correct Answer: 80
Candidate Answer: 80

Question 52.A dealer marks a washing machine for ¥ 7500, and allows a discount of 6%
on it. Find the selling price

Ten fachar arfiv #efie o sifthd 9o * 7500 foradr & 3R 39 R 6% i §e ST 81 I9hI fsh! g
T hiferg ?

Options:

1) 6850

2) 7050
3) 7250

4) 6950
Correct Answer: 7050
Candidate Answer: 7050

Question 53.The sum of the cubes of two numbers in the ratio 3 : 4 is 5824. The sum of
the numbers is:

3 : 4 & IUTd H S H=ATSHT o °H1 okl A1 5824 &1 H=ATSHT ohl TN foham 8 2
Options:

1)
(5824)1/3
2) 28
3) 24

4) 14
Correct Answer: 28
Candidate Answer: 28



Question 54.Loss of 20% on selling price is equal to x% loss in cost price. What is x?

farshY 7o 1R 20% 1 81, ST 7o # x% Y 81 o sRIeR 81 x fehd= 8 2
Options:

1) 20%

2) 20

3)

1629’
37

4) 16
Correct Answer:
16;%

Candidate Answer:
2
16 § Yo

Question 55.In a motor of 120 machine parts, 5% parts were defective. In another motor
of 80 machine parts, 10% parts were defective. For the two motors considered together,
the percentage of defective machine parts were

120 wft geif Y Atex # 5% Yot @=re o1 80 AefiHt guif &t ot Mex # 10% Yot @xre &1 gt
et ot fArerent @xre Afi+t gt <t ufasrd ford=r o7 2

Options:
1)7

2) 6.5
3)7.5
4)8

Correct Answer: 7
Candidate Answer: 7

Question 56.If (23)2= 4% then 3% is equal to

gfe (23)2 = 4% gY, @t 3% fohgdh SRR & ?



Options:
1)3

2) 6
3)9

4) 27
Correct Answer: 27
Candidate Answer: 27

Question 57.A train, 200 m long, is running at a speed of 54 km/hr. The time in seconds
that will be taken by train to cross a 175 m long bridge is

200 Hiex It Gk &1 54 .. /g &t 7fd & e @t g1 175 Hiex ol I ot g v 9
(Jhvs) H UR el ?

Options:

1)12.5

2) 20

3) 25

4)10
Correct Answer: 25
Candidate Answer: 25

Question 58.Which of the following ratios can be the ratio of the sides of a right angled
triangle?
fAfofed 7 @ a-a1 srgurd gHeRivfia Rgst i STsii o1 gt HehdT 8?

Options:
1) 9:6:3

2) 13:12:5
3)7:6:5
4) 5:3:2

Correct Answer: 13:12:5
Candidate Answer: 13:12:5



Question 59.Number of circles that can be drawn through three non-colinear points is

i I foigatt @ fohd ged a1 ST Hend & 2
Options:

1) exactly one

chad Ueh

2) two

ar

3) three
d=

4) more than three

o1 & srfdren

Correct Answer: exactly one

helcl Geh

Candidate Answer: exactly one

halel Geh

Question 60.Value of (cos 53° - sin 37°) is

(cos 53°-sin37°) AIAM R ?

Options:
10

2) 1
3) 2sin37°

4) 2 cos 53°
Correct Answer: 0
Candidate Answer: 0

Question 61.

1 5x
If 4x+— =5,%#0,then the value of ————— |
X+~ X en the value of =0 Is

1 Sx

afg ax+ T =5 8LA s i0x 1

AR IEEGIE



Options:
1)1/2

2)1/3
3) 2/3

4) 3
Correct Answer: 1/3
Candidate Answer: 1/3

Question 62.

If C+ i V3, then thevalueof GG+ 1 isequalto
c o3

aﬁ:m% vz ca% H1 O

oo auaR g ?
Options:
10

2) 3v3
3) 1/V3

4) 6v3
Correct Answer: 0
Candidate Answer: 0

Question 63.What least value must be assigned to *’ so that the numbers 451 * 603 is
exactly divisible by 9?

' T A fohe=T e 3@ ST {6 451*603 T 9 § g e fasfoid gt 51y 2

Options:
1)7

2) 8
3)5

4)9
Correct Answer: 8
Candidate Answer: 8



Question 64.The average of 9 observations was found to be 35. Later on, it was detected
that an observation 81 was misread as 18. The correct average of the observations is

9 tefurl ohT 3ffTd 35 T 4TI d1E H UdT IAT fob BeToT 81 ol TTetelt & 18 UeT 7T UT| UeTuTt bl Tat
3ted forar g 2

Options:

1) 28

2) 42
3) 32

4) 45
Correct Answer: 42
Candidate Answer: 42

Question 65.1f x = 222, y = 223, z = 225 then the value of x3 + y3 + z3 - 3xyz is

gfe x=222,y=223,z=2258, At x3+y3 + 23 - 3xyz AT A AT & ?
y y y

Options:
1) 4590

2) 4690
3) 4950

4) 4960
Correct Answer: 4690
Candidate Answer: 4690

Question 66.

If x= 3”3 _ 3-13then 3 +9x is equal to

gfg x=313-37Y3 G aAlac+ox
o s e g 2



Options:
1)5

2) 6
3)7

4) 8
Correct Answer: 8
Candidate Answer: 8

Question 67.Two circles touch each other internally. The radius of the smaller circle is 6
cm and the distance between the centre of two circles is 3 cm. The radius of the larger
circleis

&1 g1 Uk R I Siex i o1k sl oed §1 BiE g i Bwan 6 141, 8, iR &l gl o dhal & o9
A 3. 31 I3 g i B fordt @ 2

Options:

1) 7.5cm

7.5,

2)9cm
9 9.4
3)8cm
8 9.4t

4) 10 cm
10 9.4

Correct Answer: 9 cm

9 3.4

Candidate Answer: 9 cm

9 3.4

Question 68.PQR is an equilateral triangle. MN is drawn parallel to QR such that M is on
PQ and N is on PR. If PN = 6 cm, then the length of MN is

PQR Teh gHaTg f33st &1 MN, QR & GHIaR 39 UehR &A1 7147 ¢ fh M,PQ IR & IR N, PR R 81
afe PN = 6 .7, g1, @t MN & &g femat gt 2



Options:
1) 3cm
394

2) 6 ¢cm
6 9.,

3)12cm
12 @4

4)4.5cm
4.5

Correct Answer: 6 cm

6 9.4,

Candidate Answer: 6 cm

6 9.4,

Question 69.If cosec B + sinB = 5/2 then the value of cosecf - sinf is

afe cosec 6 + sin B = 5/2 §, @@ cosec 0 - sin 6 & A9 F1d HIfSIT ?

Options:
1)-3/2

2) 3/2
3) -v3/2

4) v3/2
Correct Answer: 3/2
Candidate Answer: 3/2

Question 70.Two men are on opposite sides of a tower. They measure the angles of
elevation of the top of the tower as 30° and 45° respectively. If the height of the tower is
50 m, the distance between the two men is (Take v3 = 1.73)

&l cf<h Uaeh efar <hl fauRa feamsii & @< g1 & elax oh i o1 Iad hivr shAsT: 30° 3R 45° ATUd & |
gfe elar ht Fars 50 Hiex & ot all cafxhal o g &l gt fhat & ? (AT v3 = 1.73)




Options:
1) 136.5m
136.5 .

2) 50 V3 m
50 v3 =,

3) 100 V3 m
100 v3 #Ht.

4) 135.5m
135.5 H.

Correct Answer: 136.5m
136.5 .

Candidate Answer: 136.5 m
136.5 .

Question 71.The radius and the height of a cone are each increased by 20%. Then the
volume of the cone increases by

Teh i bl ST 3R SATE Udeh ot 20% dgT &A1 SITdT 81 dt Rih &Rl S fehd =T §1g SITQm 2

Options:
1) 20%

2) 20.5%
3) 62%

4) 72.8%
Correct Answer: 72.8%
Candidate Answer: 72.8%



Question 72.A bar graph showing the heights of six mountain peaks. Study the bar graph
and answer questions

R UTh T 37T hIfSY 3R FEff@a usti & IR &fSiT | urth & 6 gdd fReRT i Sars g
T gl
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The average height of all the peaks (in meters) is

UTh | 6 Udd fReRT &t Samg geridt 2t g1 9ot fRRext i sfiaq Sams (Hiex 7) 31d difeig ?

Options:
1) 7601.5

B

8

#

2

]

aaaaaaaaaaa

2) 7600
3) 7599.5

4) 7610
Correct Answer: 7600
Candidate Answer: 7600



Question 73.A bar graph showing the heights of six mountain peaks. Study the bar graph
and answer questions

R UTh T 37T hIfSY 3R FEff@a usti & IR &fSiT| urth & 6 gdd fRReRT i Sars geuid
T gl
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Which peak is the second highest ?

T GeY $aT fAER p=ar 8 2

Options:
1)B

8

#

=

2

]

2)C
3)A

4)E
Correct Answer: C
Candidate Answer: C



Question 74.A bar graph showing the heights of six mountain peaks. Study the bar graph
and answer questions

R UTh T 37T hIfSY 3R FEfaa usti & IR &fSiT| urth & 6 gdd fReRT i Sars gauid
T 8l
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Write the ratio of the heights of the highest peak and the lowest peak

SegaH fAER SR A AR 6 Sa18 o1 S1guTd 9d18Y ?

Options:

1) 22:15

2) 15:22

3) 20:13

4) 13:22

Correct Answer: 22:15
Candidate Answer: 22:15

aaaaaaaaaaa



Question 75.A bar graph showing the heights of six mountain peaks. Study the bar graph
and answer questions

R UTh T 37T hIfSY 3R FEff@a usti & IR ST urth & 6 gdd fReRT i Sars geuid
T gl

2200 8800

8600
7500
6500
I

When the heights of the given peaks are written in ascending order, what is the average
of the middle two peaks?

gfe fou U ydd fAReR) it Fars RIS o | fordt St €, t 7er & &) fAa”) vt sl R € 2
Options:

1) 7950 m

7950 .

2) 7560 m

7560 .

3) 7650 m

7650 .

4) 7850 m
7850 #Ht.

Correct Answer: 7850 m
7850 #t.

Candidate Answer: 7850 m
7850 #t.
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Question 76.In the following question, out of the four alternatives, choose the word which
best expresses the meaning of the given word and click the button corresponding to it.

CREDULOUS



Options:

1) FUNNY

2) SILLY

3) INNOCCENT
4) GULLIBLE

Correct Answer: GULLIBLE
Candidate Answer: GULLIBLE

Question 77.In the following question, out of the four alternatives, choose the word which
is opposite in meaning to the given word and click the button corresponding to it.

REASSURE
Options:

1) COMFORT

2) CONSOLE

3) INSPIRE

4) DISCOURAGE

Correct Answer: DISCOURAGE
Candidate Answer: DISCOURAGE

Question 78.Four words are given, out of which only one word is spelt correctly. Choose
the correctly spelt word and click the button corresponding to it.

Options:

1) Defianse

2) Defyance

3) Difiance

4) Defiance

Correct Answer: Defiance

Candidate Answer: Defiance

Question 79.In the following questions, one part of the sentence may have an error. Find
out which part of the sentence has an error and click the button corresponding to it. If the
sentence is free from error, click the "No error" option.

Too great a (A)/ variety of studies (B)/ distract the mind (C)/ No Error (D)
Options:

1) A

2)B

3)C

4)D

Correct Answer: C

Candidate Answer: C



Question 80.In the following questions, one part of the
sentence may have an error. Find out which part of the
sentence has an error and click the button corresponding
to it. If the sentence is free from error, click the "No error”
option.

The severe cyclonic storm (A)/ has left behind (B)/ a trial
of misery (C)/ No Error (D)

Options:

1) A

2) B

3)C

4) D

Correct Answer: C

Candidate Answer: B

Question 81.In the following questions, one part of the
sentence may have an error. Find out which part of the
sentence has an error and click the button corresponding
to it. If the sentence is free from error, click the "No error”
option.

My sister has been (A)/ interested in medicine (B)/ ever
since she was a child (C)/ No Error (D)



Options:

1) A

2) B

3)C

4)D

Correct Answer: D
Candidate Answer: C

Question 82.The sentences given with blanks are to be
filled with an appropriate word(s). Four alternatives are
suggested for each question. For each question, choose
the correct alternative and click the button corresponding
to it.

Itis university of excellence.
Options:

1) a

2) an

3) also

4) one

Correct Answer: a

Candidate Answer: a




Question 83.The sentences given with blanks are to be
filled with an appropriate word(s). Four alternatives are
suggested for each question. For each question, choose
the correct alternative and click the button corresponding
to it.

They have not had much time for social activities and |
have not
Options:
1) done so

2) either

3) also

4) gone

Correct Answer: either
Candidate Answer: either

Question 84.The sentences given with blanks are to be
filled with an appropriate word(s). Four alternatives are
suggested for each question. For each question, choose
the correct alternative and click the button corresponding
to it.

Food was packed, and they , @ merry, delighted
party.

Options:

1) went off

2) start off
3) cut off
4)

set off



Correct Answer: set off
Candidate Answer: set off

Question 85.1n each of the questions, four alternatives are
given for the Idiom/Phrase. Choose the alternative which
best expresses the meaning of the Idiom/Phrase and
click the button corresponding to it.

pull a fast one

Options:

1) as fast as lightning
2) play a trick

3) carry a heavy burden
4) take a deep breath

Correct Answer: play a trick
Candidate Answer: play a trick

Question 86.In each of the questions, four alternatives are
given for the Idiom/Phrase. Choose the alternative which
best expresses the meaning of the Idiom/Phrase and
click the button corresponding to it.

grease the palm
Options:

1) dirty one's hands
2) work in a garage
3) slip and fall

4) bribe



Correct Answer: bribe
Candidate Answer: bribe

Question 87.In each of the questions, four alternatives are
given for the Idiom/Phrase. Choose the alternative which
best expresses the meaning of the Idiom/Phrase and
click the button corresponding to it.

turn turtle

Options:

1) slow like a turtle

2) turn like a turtle

3) over-turn

4) a game turtles play

Correct Answer: over-turn
Candidate Answer: over-turn

Question 88.0ut of the four alternatives, choose the one
which can be substituted for the given words/sentences
and click the button corresponding to it.

Action that is likely to make people very angry
Options:

1) Inflationary

2) Inflammable

3) Commensurable

4) Inflammatory

Correct Answer: Inflammatory



Candidate Answer: Inflammatory

Question 89.0ut of the four alternatives, choose the one
which can be substituted for the given words/sentences
and click the button corresponding to it.

A humorous drawing dealing with current events or
politics.

Options:

1) Sketch

2) lllustration

3) Cartoon

4) Skit

Correct Answer: Cartoon

Candidate Answer: Cartoon

Question 90.0ut of the four alternatives, choose the one
which can be substituted for the given words/sentences
and click the button corresponding to it.

Act of mercy killing

Options:

1) Suicide

2) Euthanasia

3) Immolation

4) Asphyxiation

Correct Answer: Euthanasia
Candidate Answer: Euthanasia



Question 91.A sentence/a part of the sentence is
underlined. Four alternatives are given to the underlined
part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In
case no improvement is needed, click the button
corresponding to "No improvement”.

They have had a real good time.
Options:

1) have had a

2) have had really

3) have had a really

4) No improvement

Correct Answer: have had a really
Candidate Answer: have had really

Question 92.A sentence/a part of the sentence is
underlined. Four alternatives are given to the underlined
part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In
case no improvement is needed, click the button
corresponding to "No improvement”.

Electricity has modernized the march of modern events.




Options:

1) revolutionised

2) developed

3) created

4) No improvement

Correct Answer: revolutionised

Candidate Answer: revolutionised

Question 93.A sentence/a part of the sentence is
underlined. Four alternatives are given to the underlined
part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In
case no improvement is needed, click the button
corresponding to "No improvement’.

The sales boy told the consumer not to touch the
products on display.

Options:

1) buyer

2) shopper

3) customer

4) No improvement

Correct Answer: customer

Candidate Answer: customer



Question 94.A sentence/a part of the sentence is
underlined. Four alternatives are given to the underlined
part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In
case no improvement is needed, click the button
corresponding to "No improvement”.

Please make it a point to send the letter at my address.
Options:

1) on

2) to

3)in

4) No improvement

Correct Answer: to

Candidate Answer: to

Question 95.A sentence/a part of the sentence is
underlined. Four alternatives are given to the underlined
part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In
case no improvement is needed, click the button
corresponding to "No improvement”.

Sunil and | helped to sell tickets.

Options:

1) we
2) us
3)m
4)

No Improvement



Correct Answer: No improvement
Candidate Answer: No improvement

Question 96.A passage is given with 5 questions
following it. Read the passage carefully and choose the
best answer to each question out of the four alternatives
and click the button corresponding to it.

To know language is to be able to speak it; even a child
who does not yet attend school can speak his or her
language. In order to speak a language it is important to
listen to it and to read a few pages in it everyday. A child
picks up language and learns to talk just as (s)he learns
to walk. Walking and talking comes naturally to a child as
it grows. In our country, a child may grow up speaking
more than one language, if these languages are spoken in
the home and in the neighbourhood. we call this
multilingualism. A child speaks a language or languages
much before (s)he starts going to school. To know a
language then is first of all to be able to speak it as easily
and naturally as a tree year old child does. Later on the
child will learn to read and write in that language. In order
to read and write in a language, one has to speak it. But it
is possible to speak a language but not able to read or
write in it. A baby does not speak until it is nine months
old but it understands a few words at six months of age.
It has been listening ever since it was born, and even a
little before that. So the first strategy in speaking a
language is to listen.



One of the activities of a child before it is even born is

Options:

1) seeing

2) listening

3) understanding

4) talking

Correct Answer: listening
Candidate Answer: listening



Question 97.A passage is given with 5 questions
following it. Read the passage carefully and choose the
best answer to each question out of the four alternatives
and click the button corresponding to it.

To know language is to be able to speak it; even a child
who does not yet attend school can speak his or her
language. In order to speak a language it is important to
listen to it and to read a few pages in it everyday. A child
picks up language and learns to talk just as (s)he learns
to walk. Walking and talking comes naturally to a child as
it grows. In our country, a child may grow up speaking
more than one language, if these languages are spoken in
the home and in the neighbourhood. we call this
multilingualism. A child speaks a language or languages
much before (s)he starts going to school. To know a
language then is first of all to be able to speak it as easily
and naturally as a tree year old child does. Later on the
child will learn to read and write in that language. In order
to read and write in a language, one has to speak it. But it
is possible to speak a language but not able to read or
write in it. A baby does not speak until it is nine months
old but it understands a few words at six months of age.
It has been listening ever since it was born, and even a
little before that. So the first strategy in speaking a
language is to listen.

It is necessary for one to the language before
(s)he writes in that language.




Options:

1) sing

2) spell

3) speak

4) none of the above
Correct Answer: speak

Candidate Answer: speak



Question 98.A passage is given with 5 questions
following it. Read the passage carefully and choose the
best answer to each question out of the four alternatives
and click the button corresponding to it.

To know language is to be able to speak it; even a child
who does not yet attend school can speak his or her
language. In order to speak a language it is important to
listen to it and to read a few pages in it everyday. A child
picks up language and learns to talk just as (s)he learns
to walk. Walking and talking comes naturally to a child as
it grows. In our country, a child may grow up speaking
more than one language, if these languages are spoken in
the home and in the neighbourhood. we call this
multilingualism. A child speaks a language or languages
much before (s)he starts going to school. To know a
language then is first of all to be able to speak it as easily
and naturally as a tree year old child does. Later on the
child will learn to read and write in that language. In order
to read and write in a language, one has to speak it. But it
is possible to speak a language but not able to read or
write in it. A baby does not speak until it is nine months
old but it understands a few words at six months of age.
It has been listening ever since it was born, and even a
little before that. So the first strategy in speaking a
language is to listen.

Multi-lingualism means



Options:

1) speaking more than one language

2) speaking only one language

3) speaking any language

4) speech

Correct Answer: speaking more than one language
Candidate Answer: speaking more than one language



Question 99.A passage is given with 5 questions
following it. Read the passage carefully and choose the
best answer to each question out of the four alternatives
and click the button corresponding to it.

To know language is to be able to speak it; even a child
who does not yet attend school can speak his or her
language. In order to speak a language it is important to
listen to it and to read a few pages in it everyday. A child
picks up language and learns to talk just as (s)he learns
to walk. Walking and talking comes naturally to a child as
it grows. In our country, a child may grow up speaking
more than one language, if these languages are spoken in
the home and in the neighbourhood. we call this
multilingualism. A child speaks a language or languages
much before (s)he starts going to school. To know a
language then is first of all to be able to speak it as easily
and naturally as a tree year old child does. Later on the
child will learn to read and write in that language. In order
to read and write in a language, one has to speak it. But it
is possible to speak a language but not able to read or
write in it. A baby does not speak until it is nine months
old but it understands a few words at six months of age.
It has been listening ever since it was born, and even a
little before that. So the first strategy in speaking a
language is to listen.

A child has been ever since it was born




Options:

1) speaking

2) reading

3) walking

4) listening

Correct Answer: listening
Candidate Answer: listening



Question 100.A passage is given with 5 questions
following it. Read the passage carefully and choose the
best answer to each question out of the four alternatives
and click the button corresponding to it.

To know language is to be able to speak it; even a child
who does not yet attend school can speak his or her
language. In order to speak a language it is important to
listen to it and to read a few pages in it everyday. A child
picks up language and learns to talk just as (s)he learns
to walk. Walking and talking comes naturally to a child as
it grows. In our country, a child may grow up speaking
more than one language, if these languages are spoken in
the home and in the neighbourhood. we call this
multilingualism. A child speaks a language or languages
much before (s)he starts going to school. To know a
language then is first of all to be able to speak it as easily
and naturally as a tree year old child does. Later on the
child will learn to read and write in that language. In order
to read and write in a language, one has to speak it. But it
is possible to speak a language but not able to read or
write in it. A baby does not speak until it is nine months
old but it understands a few words at six months of age.
It has been listening ever since it was born, and even a
little before that. So the first strategy in speaking a
language is to listen.

To know a language one must be able to?



Options:

1) Speak it as easily and naturally as a three year old
child.

2) Read it well all the time.

3) Write it quickly

4) Sing in the language

Correct Answer: Speak it as easily and naturally as a
three year old child.

Candidate Answer: Speak it as easily and naturally as a
three year old child.



